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1.

SECTION A

M (o) Thin wolled and Blood fows wnder
diminished pressura,
Explanotion: Veins transport blood from
organs to heart, which does not require
preseure, making them thin walled. Veins
also have valves to ensure flow of blood
only in one direction

(iny (b} Heredity
(i) (d) Around the stoma
Explanation: & pair of guard cells surround

the stomata on the upper and lower
epidermis of leaf.

(v (b)) 22 pairs of outosames and 1 pair of sex
chromasomes
Bxplanation: In humans, there are 23 pairs
ie 45 = 22 pairs of autosomes + 2 5ex
hormones of the chromosome.

() (b) Antdiuretic hormone
Explanotion: This hormone is  released
when the hypothalomus sends messages to
the pituitary glands through nerve cells.

() (d) remowe starch from the experimentol
leaf

Bxplanatiorn: Starch is stored in the form of
glucase in plonts. Before exparimenting on
photosynthesis, the plant is kept in the dark
for sorme hours to remove starch from the
experimental leaf

(ui) (b} Discharge the waostes into the rver.
Explanotion: Discharging of  industriol
wiastes into the river causes water pollution.

fai)c) AMedical Terminoton of Fregrancy
Explanotion: MTP  refers to hedical
termination of pregnoncy. This is the procass
which is used to tarminate the pregnancu
Thiz is called as induced abortion. Thera are

medidnes or the surgical form of oborton is
performead to terminate the pregnancu.

@ Related Theory

= Thic is [egal method for the termination of the
conception. MTP is considered safe &1 21st week in
india.
() (b Chadotion
Bxplanation: Cwvuladon is the releass of the
eqqg {ovurm) from a woman's ovary.

2.

@ Related Theory

= [tiz 7 phase in the mensztrual cycle. [t coours ot gbout
day 14 of a 28-day menstrual cycle.

() (b} Cormea

ooy (B Cochlea
Explanatore Cochlea is the inner ear that is
rolled up into the spiral snaoil-like shope.

(i) (o) Central nenwous system

Explonatiore The reflex action is governed
by the "central nervous system”

(xan) (by Gibbersollic acid- Leaf fall
Explanatore Gibberellins promotes  cell
elongotion of both leowves and stems and
incemodal length of genetdcally  dwarf
plants. It is in general a growth promoting
hormone and does not inhibit growth
So, leaf obecission is not ossociated with
gibbarellins. Leof fall is ossocioted with
abscisic add

{(xav) (g} Guttation
Explonatiore Guthation is the liquid water
loss from special openings of veins of laaves.
Baudation is Lliquid which comes out of the
pores or wounds. Girdling is the experiment
which proves that tronslocotion of food
oocurs through phloem. Transpiration is the
loss of water from aerial parts of the plonts
in the form of vapours.

(o) (0) Bowrnon's capsule

BExplanatore Ultrafiloration begins in the
nephron in the kidnay. Blood mavels through
a moiled structure of capillaries surrounded
by the Bowrman's capsule,

Mame the following -

(@} Variotion

(b} Collecdng duct

@ Related Theory

“— The collecting duct alwoys pasces through the
hypertonic tissue flwid Hence, water comes out
osmoticolly moking the fktrote hypertanic Now in
collecting duct glomerulor fltrate is krown Gz whine.
Term unne iz first timee wsed in collecting duct

[0y Acromegaly.
(dy Sewage [ detergents | oil spills.
(&) Vasectomu




(i)

(i)

(i)

(o) Photons, Grano.Absorbs energu, Storma,
Splits wiater molecules.

Explanation: In the presence of pigment
chlorophull, the energu in the form
of photons is absorbed by the Grana,
and the obsorbed energy splits water
molecules whereas stoma takes in
carbon dioxida to releose oxpgen.

(t) G1 phose, S-phase, G2 phose
Karuokinesis, Cutokinesis.
Explanation: This is the ssquence of
occurence of each process in a cell oycle.

(C) Right atrium, Right ventricle, Lungs, Left
atrium, Left ventricle .

Explanation: Blood entering the right
arium passes through the Aght ventricle
which pumps the blood to the lungs
where it becomes owygenated. The
oxugenated blood comes bock to the
heart by the pulmonary weins which
enter the left atrium and then flows into
the left ventricle.

(d} Owary, Oviduct, Uerus, Canvix, Vogina.

Explanation: Bgg is formed in the ovary
and passes to Follopion tube vio oviduct
to uterus. The ferdlized egg grows in
uterus. The voging connects with uterus
at the cervix. The unfertlized eqgs exit
through vagina during menstrual cycle.

(8 Receptor, Sensory neuron, Spinal cord,
hotor neuron, Effector.

Explanation: Receptors {eye ear, skin)
detect changes in the environment
(stirmuli}, and tum them into electrical
impulses.  Sensory  REUrOns  ©amy
glectrical impulses from receptors to
the CHNS. CMNS consists of the brain
and the spinal cord. Mdotor neurons
carry  impulses from the CHNS to
effectors{muscles or glands).

(i)
Column A Column B
i Pitutary gland (0) Growth hormone
(i Sulphur dicvdde (dy Acid rain
(i} Seminiferous tubules | (8] Sperms
(iv) Clotting of blood (b} Calcium
[ Guttation (h) Huathodes

{n) Choose the odd one out from the following

SECTION B

The drooping down of the plont due to
deficit of water is colled wildng. It oocurs
due to excessive transpirgtion os compared
to the absorption of wiater by roots.
Photolysis s the decompositdon of
molecules by the acton of light while
photophosphomylotion is the synthesis of
ATP from ADP and phosphate that oocurs
in a plant using rodiant energy absorbed
during photosynthesis.

Rice plonts infected with fungus Gibberolla

fujfikuror shows too much growth in length,
which is too long for the plant to support its

(i)

termns and name the categony to which the
others belong:

(o) Odd one: — ADH

Category — Others are homones of
anteror lobe of piouitary gland.

(b} Odd one: Styrofoam

Cotegory : Others are biodegrodoble
rnaterials

(g Odd one Cerebellum.

Caoregory - AlL other thres terms are the
part of forebrain.

(d) Odd one Night blindness
Category: Others are sex linked inherited
disorders.

(g) Odd one : Awdn

Category - Others are waste products
released by plants.

Stmate the exact locotion of the following
SUCtUres:

(o) Grana are found in chloroplast
(b) At the junction of choroid and iris.
() Batween alimentany canal and liver.

(d) These are present in the seminiferous
tubules of the testis.

(&) Pitwitary gland is located at the base of
rridbrain below hupaothalarmus.

own weight and the plant ubdmaotely dies
This phanormenaon is called foolish seedlings.

Sex chromosome is a chromosome that
operates in the sex-determining medhanism
of a species. For examples, in human there is
a large ¥ chromosome and a much smaller
Y chrormosome.

(@} Transpirgtion.

(b} In A=The weight of test tube reduces, as
the leafy shoot anspires and in tum it
absaorbs water from the test tuba,

In B-Mo change in weightfweight does
not reduce. There is no leafy shoot No




()

(v)

(i)

(i)

()

(v)

tronspiration and no absorption of water
takes place

(C) Itacts as a control set up

Abscissa acid

Colour blindness, Hoemophilia, Pattern
baldness. [Ary basa)]

Adoptations which fowvour the process of

photosynthesis are :

(1) Presence of more stomata to allow ropid
exchange of gases like CO; and O,

(2) Arrangement of chloroplosts on the
upper surface of leaves, 5o, as to receive
rirnum amount of light

(3) Lorge surfoce area of leawes for
obsorbing maximum light  [Any two]

Anirmals owe their existence to chlorophuyll
because plants with chlerophyll produce the
food by photosynthesis, which in twm are
used by all the living organisms direcdy or
indirectdy. Plants form the base of any food
chain

For example : Grass — Deer — Tigar

Tiger feeds on deer, who feeds on gross
Thus, deer and a tger are dependent on

grass directly or indirectly.

(g} The stage is telophase. The reoson is
that nuclear membrane reoppears and
spindle fibres disoppear.

by (1) Chromosome
(2) Muclear membrane

() The technical term for the division of
nuclews is Koryokinesis.

It is the act of emptuing the bladder. When
the bladder is full of urine, stretch receptors
in the bladder wall trigger the micturiton
reflex.
LUBB — Closure of tricuspid and bicuspid
valvas

DUBS — Closure of semilunar valves

(o) Suspensory ligoments hold lens in
positon.

(b Semicircular canals bolances the boduy.

It is the secretion of an endocrine gland,
which is transported by blood and acts on
target organs or cells.

Tropic hormones are secreted by pituitany
glond ond stmulotes other endocrine
glonds to secrete their hormoneas.

(o) Mephron.

(b} Glomerular filtrate

(c} The fluid that comes to part 2 is urine
The main nirogenous waste in uring is
Lrea.

6. (i Itisarod lke or thread like structure formed
by the condensation of chromatin fibers
during cell division.

(i) [Any two]
Prophaose of Mitosis Telophase of Mitosis

Prophose is the first Telophase is the final

stage in mitosis. stage.

Chrormosomes are Chromosomes are

randomly armanged in present gt the opposite

the cell poles of the cell

Muclear membrane Mudear membrane is

starts disappearing. formed around each set

of chromosomes.

Mucleolus starts to Mudeolus starts being

disappear. visible again.

(i) Two functons of cerebrospinal fluid are

()

(o) Protects the brainf Spinal cord from
injuries and shodks.

(b} It supplies food and oxuygen to different
parts of Cantral Mervous Sustem.

Colour blindness is coused by o recessive
gene located in the X chromosome Y
chromosome does not camry this gene In
males , if the single X defective chromosome
ocarrying the gene expresses itself It can
result in the colour blindness Whils in
women, two defective X chromosomes are
required to couse colour blindness. Hence, it
is more comrmon in men than in women.

& Caution

= Cxplain the comcept of rececsive gene in men
grd women to give an idea obout sex linked
inheritance.

v

7. 0

(i Ear ossicles

(il A - Cochlea, B - Semicircular canals, C-
Ear ossicles

(i} Cochlea healps in transmitting impulses
to the braoin vio the ouditory nsrve
Semicircular canals help in maintaining
dynarnic equilibrium of the body.

Process of focusing the eye to see
objects at different distances is called
accommodation.




(i) BEducation can create awarenass for birth

control measures and family plonning, thus,
helping in population control

(i) Functions of plocenta -
(1) It acts as a barriar between the fostus

and the mather.
(# It helps in tronsportation of soluble
inorganic  and  organic  materials,

nutrants, hormones, antibodies, etc
through the plocenta from the mother
to foetus.

(3 It helps in the gos exchange between
rnother and foetus

(@ It helps in elimination of nitrogenous
wistes of foetus.

(%) It octs os an endacrine glond by sacreting
Hurman choronic gonodotropin (hOG),
hurnan plocemal locogen (hPL), cesmogen,

progesterone and relmdin [Any four]
0] [Any twol
DA Chromosome
DA is the chemical A chromosome is the
form which stores highast organized
genetic information. structure of DMA doubls
helix with proteins.
DA is made up of A chromosome is made
nucleotide monomers of | up of condensed DA
fourbases AT, Cand & | double-helix with histone
protein.
DA carmies the genetic | It is responsible for
informnation within a cell | inhartonce of troits.

) A Muyelinoted Neuron:

8.

(i)

(i)

(i

V)

Biomedical waste is any kind of waste
ocontaining infectious materials. generated
from biological ond medical sources and
actvities such as diognosis, prevention or
treatment of diseoses.

It is becauss, the roots are no more exposed
to soil woter and therefore, there is no
abrorption of water. s a result, the leaves
do not receive water and soon all turns
flaccid. This results in the wilting of leaves.

Amnion is the innermost fetal membrane
which secretes amniotic fluid whereas
chorion is the outermost membrans which
forms plocenta with endometrium  and
allantois. It does not secrete amniotc fuid.

Control measures for preventng global
wanming are :

(1) Reducing the use of fossil fuels
(2) Use of bio-fiels.
(3 Improving energy efficiency

(4) Use of renewable source of energy such
as CHG et

(%) Reforestotion.
(B) Recycling of maoterials.

(@ Intermational  indotives  are  also
being taken to reduce the emission of
greenhouse gases into the atmosphere.

(@) 1. Rodicle, Plumule.
(b} Hudrotropism

ic) Part 1 ie. Radide is affected by Gravity
of earth and wiater.




